
Golfmech Ltd
Hullaghfin Balrath Navan, C15 VOFS
353 87 632 9827
https://golfmech.rrproducts.com/

Details
Includes 15 ea: R453023 Washer, RP455-4 Nut; 12
ea: RP1470-1 Bolt; 3 ea: RP1471-1 Bolt; 1 ea:
RP1471-2 Spacer

Specifications
Manufacturer R&R Products

Replacement Parts
R453023 Washer - Flat 1/4
RP1470-1 Bolt - Carriage 1/4 x

1-1/4
RP1471-1 Bolt - Hex HD 1/4-20 x

1
RP1471-2 Spacer - 5/16 Bench

Support
RP455-4 Nut - 1/4-20 Hex Clear

Zinc

Hardware Kit - Fits RP1500
RP1471


